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MATHEMATICS

Question[1-40] – Part A [Each 1 mark]

Question[41-60] – Part B [Each 2 marks]

Question[61-75] – Part C [Each 4 marks]

1) Truth table contains-

a) T

b) F

c) Both T and F

d) None of above.

2
2) Compound proposition contains-

a) Only Single connective

b) Only Two connectives

c) More than one connectives

d) None of above.

3) Converse of  q-->p is 

a) p(q

b) q(q

c) p(q

d) None of above.

4) Inverse of p->q is

a) ~p->q

b) p->~q

c) ~p->~q

d) q->~p

5) Contra positive of p->q is 

a) ~p->q

b) p->~q

c) q->~p

d) ~q->~p

6) Compound proposition which truth value is true always is called – 

a) contra positive 

b) converse

c) tautology

d) topology

7) ~(p->q) is logically equivalent to 

a) p ( q

b) ~ p ( q

c) p((~ q)

d) None of them

8) Which one of the following is neither tautology nor contradiction-

a) r((~ r ( s)

b) r((r ( ~ s)

c) r((~ r ( ~ s)

d) r((~ r ( ~ s)

9) (p( ~ q) ( (~ p ( q) is a –

a) contradiction

b) tautology

c) Both a & b

d) none of above.

10) r is logically equivalent to 

a) (~ p ( ( ~ q ( r)) ( (q ( r) ( (p ( r)

b) (p ( ( ~ q ( r)) ( (q ( r) ( (p ( r)

c) (~ p ( ( ~ q ( r)) ( (q ( r) ( (p ( r)

d) None of above

11) Which of the following is singleton set –

a) {}

b) {1}

c) {1,1}

d) (
12) Cardinal number of a finite set is –

a) Number of finite sets

b) Number of Infinite sets

c) Number of distinct elements in the set.

d) None of above.

13) “A is proper subset of B”  will be denoted by – 

a) A ( B

b) A ( B

c) A ( B

d) None of above.

14) If A ( B and A ( B then 

a) A ( B

b) A (B

c) A ( B

d) None of above.

15) If A is a subset of B , then B is called –

a) Power set of A

b) Superset of A

c) Universal set of A

d) None of above.

16) If n(A) = m, then n[p(A)] is –

a) 2m
b) 2m+1
c) 2m-1
d) None of above.

17) A ( A  is -

a) (
b) A

c) U

d) None of above.

18) U={ a, e, i, o, u}  A={a, e, u} Then  A’ is given by- 

a) {a, i}

b) {a, e}

c) {o, i}

d) {i, o}

19) Let A={4,5,6,7,8}
B={5,6,7,8,9} then A-B is-

a) {5}

b) {4}

c) {8,4}

d) None of the  above.

20) If A={1,2,3,4,5,6} and B={2,4,6} then number of elements in A ( B is –

a) 5

b) 6

c) 7

d) 8

21) If A={1,2,3}  B={2,4,5} then find (A ( B) * (A - B)

a) {(2,1), (2,3)}

b) {(1,2), (2,3)}

c) {(2,1), (3,2)}

d) None of Above.

22) If (3x + y, x – 1) = (x + 3, 2y – 2x) then value of x and y – 

a) x=1, y=2

b) x=2, y=1

c) x=1, y=1

d) None of above.

23) Let A={1,2 3}
B= (  Find A * B

a) {1,2 3}

b) { }

c) {1}

d) (
24) For any two non-empty sets A and B, cardinality of  |A * B|   is given by –

a) |A| - |B|

b) |A|*|B|

c) |A|+|B|

d) None of above.

25) A={3,4,5,6}
B={x,y,z} Then |A*B| is –

a) 13

b) 7

c) 1

d) 12

26) Let A={1,9,3} and B={4,8} and R is a relation less than then R is given by

a) R={(1,4),(4,3), (1,8), (3,8)}

b) R={(1,4),(3,4), (8,1), (3,8)}

c) R={(1,4),(3,4), (1,8), (8,3)}

d) R={(1,4),(3,4), (1,8), (3,8)}

27) Let A={1,9,3} and B={4,8} and R is a relation less than then R is given by then  Dom(R) is given by-

a) R={(1,3)}

b) R={(1,4)}

c) R={(2,4)}

d) R={(1,4)}

28) Let A={1,2,3}
 B={3,9}R is the relation greater then Ran(R) is given by – 

a) {3}

b) {4}

c) {5}

d) {6}.

29) The number of integers between 1 to 250 that are divisible by any of the integers 2, 3, 5 and 7 is 

a) 125

b) 193

c) 8

d) None of them

30) How many 4-digit numbers can be formed by using 2, 4, 6, 8 when repletion of  digits is allowed?

a) 256

b) 250
c) 257
d) None of above.

31) How many solutions does the equation: x + y + y = 17 have, where x, y, z are non-negative integers?

a) 17

b) 171

c) 3

d) None of above.

32) In how many ways can 4 prizes be distributed among 5 persons when No person gets more than 1 prize.

a) 8

b) 9

c) 10

d) 11
33) In how many ways  can the letters of the word ‘SUNDAY’ be arranged?

a) 719

b) 720

c) 721

d) None of above.

34) Find the number of ways can we obtain change for Rs. 10 in terms of Rs.5, Rs.2, Rs.1.

a) 9

b) 10

c) 11

d) 12

35) How many arrangements of six 0’s, five 1’s and four 2’s are there in which: The first 0 precedes the first 1-

a) The number of arrangements is C(15,4) * C(10,5)

b) The number of arrangements is C(15,5) * C(10,5)

c) The number of arrangements is C(15,4) * C(10,4)

d) None of above.

36) The number of  integers between 1 to 250 that are divisible by any of the integers 2, 3, 5 and 7 is 

a) 125

b) 193

c) 8

d) None of them
37) How many 4-digit numbers can be formed by using 2, 4, 6, 8 when repletion of  digits is allowed?

a) 256

b) 250
c) 257
d) None of above.

38) How many solutions does the equation: x + y + y = 17 have, where x, y, z are non-negative integers?

a) 17

b) 171

c) 3

d) None of above.

39) In how many ways can 4 prizes be distributed among 5 persons when No person gets more than 1 prize.

a) 8

b) 9

c) 10

d) 11
40) In how many ways  can the letters of the word ‘SUNDAY’ be arranged?

a) 719

b) 720

c) 721

d) None of above.

41) Find the number of ways can we obtain change for Rs. 10 in terms of Rs.5, Rs.2, Rs.1.

a) 9

b) 10

c) 11

d) 12

42) Number of positive integers less than or equal to 70, are relatively prime to 70 

43) Are – 

a) 20

b) 21

c) 22

d) 24

44) The solution of the recurrence relation an = 5an-1 – 6an-2, n >= 2, given a0=1, a1=4

45) Is given by the 

a) –2n + 2(3n)

b) –2n - 2(3n)

(i) 2n + 2(3n)

c) None of above.

46) The solution of recurrence relation is given by an = 3an-1, n >= 1.

a) an = 3n+1

b) an = 3n-1
c) an = 3n
d) None of above.

47) what is values of  ( 99.1(, ( 66.5( respectively.- Note :  ( ( is floor function.

a) 66, 99

b) 99, 66

c) 33, 11

d) None of above.

48) Find the value of (3.9(, where  ( ( is ceiling functions.

a) 3

b) 4

c) 5

d) None of above.

49) A partially ordered set(PO-set) is a set S with a relation R on S which is – 

a) Reflexive, symmetric  and transitive.

b) Symmetric and Reflexive

c) Reflexive, Anti-symmetric and transitive.

d) None of above.

50) A lattice is a partially ordered set L if for any pair of elements x,y ( L, 

a) glb{x,y} exist and lub{x,y} does not exist.

b) glb{x,y} does not  exist and lub{x,y} exist.

c) glb{x,y} and lub{x,y} both  exist.

d) None of above.

51) Sum 1+ 3/4 + 5/16 + 7/16 + - - - -  to infinity is 

a) 3/8

b) 8/3

c) 1/3

d) None of above. 

52) Graph theory was born in 

a) 1930

b) 1859

c) 1890

d) 1736

53) Connected graph G is a Eular graph if 

a) Vertices of G are of even degree 

b) Vertices of G are of odd degree 

c) Any

d) None.

54) If we have a completed graph of n-vertices then how many different Hamiltonian circuits will be possible – 

a) n(n-1)/2

b) (n-1)( 

c) n(n+1)/2

d) (n-1)( / 2

55) A connected planner graph with (n-1) vertices & (e-1) edges has …….region – 

a) e – n +2

b) e – n –1

c) e – n + 1

d) None

56) A graph that can not be drawn on a plane without a crossover between its edges is calle 

a) planner

b) non-planner

c) connected

d) vertices

57) A complete graph of five vertices is 

a) plannar

b) non-planner

c) connected graph

d) none

58) A vertices of every planner graph can be properly colored with –

a) 2-colors

b) 3 –colors

c) 1-colors

d) 5-colors

59) Incidence matrix  is also called –

a) Idempotent  matrix

b) Vertex incidence matrix

c) Vertex edge incidence matrix 

d) Edge incidence matrix

60) A graph G is disconnected and is in two components g1 and g2 if and if only its is adjoining matrix X(G) can be in 


a) a) X(G) =     X(g1)  X(g2)  

i. 0  

61)             b) X(G) =      X(g1)  X(g2)  

i. X(g2)     0 


b) c) X(G) =      X (g1)    0 

62) X(g2)
a) None 

63) Complement law is 

a) a  ( b = b ( a

b) a ( b = (a ( b) ( c

c) a ( b(  = 0

d) None

64) (f ( g)(x1, x2, - - - , xn ) is equal to 

a) (f(x1), f(x2), f(x3), - - - - ,f(xn)) ( (f(x1), f(x2), f(x3), - - - - ,f(xn))

b) (f ( g)x1, (f ( g)x2,- - - - - -, (f ( g)xn

c) f(x1, x2, - - - - -, xn) (  g(x1, x2, - - - - - -, xn)

d) None 

65) f ( (x1, x2, - - - - - -, xn) is equal to

a) f(x1 , x2, x3, - - - - -, xn)

b) (f(x1 , x2, x3, - - - - -, xn)()(
c) [f(x1 , x2, x3, - - - - -, xn)](
d) None

66) What is dominance law – 

a) ( x( )( = x

b) x ( y = y ( x

a) x ( y = x

b) x ( 1 = 1


67) Identity law is  - 

a) x ( 1= x

b) x ( y = x

c) x ( 0 = 0

d) x ( x = 0

68) The value of x +(x+y) is – 

a) y

b) 1

c) 0

d) x

69) the value of (x ( y) ( x ( ( y ( is – 

a) 0

b) x

(i) 1

c) y

70) The value of x ( y ( [(x ( y () (] ( is –

a) 1

b) 0

c) x

d) xy

71) The value of x ( y ( y ( z ( y  ( z (  is

a) x

b) y

c) xy

d) 1

72) The value of (x ( y) ( (x ( ( z) is equal to  - 

a) (x ( x ()  (  (y  ( z )

b) (x ( z)  (  (y  ( z )

c) (x (( y)  (  (x  ( z )

d) None

73) The value  of (x.y ( + y.z)(x.z + y.z ()  is –

a) x.y

b) y.z

c) x.z

d) 1

74) Canonical form is also known as – 

a) Disjunctive Normal form

b) Complete Disjunctive form

c) Metrix form 

d) None

75) if a ( x = b ( x and  a ( x ( = b ( x ( then we can prove that

a) a = 1 / b

b) a.b = 1

c) a = b

d) a= b= 0
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